A & 0ol & AF S H Al A

S Fo=ST
T 500 BXE2
21 510 I NBE3E
g 51 RUEX3S (Et2l: ®R)
SN F-2-E-2 Ol & of ol = Hns2
s 15,940,957 15,726,534 214,423
Fol= 15,940,957 15,726,534 214,423
500 2x3 15,940,957 15,726,534 214,423
510 2D2X3S 13,686,649 13,587,329 99,320
511 2N2X3ES 13,686,649 13,587,329 99,320
511-01 2 NBEZ 13,261,883 13,162,563 99,320
Ot dE 29 Z& 175,104,000 175,104 174,970 134
OslZIISSE | 2 F 4,560,000 4,560 4,673 A113
ougllssz 2F 133,0002 133 475 A32
OFAX =R 2F 1,216,002 1,216 1,742 VS
O3ILM=HZ | ZE 12,960,000 12,960 5,358 7,602
OLYSEV B 2 6,480,002 6,480 7,661 A1,181
OFFUL M EHZHRHARI015H) 3 72,800,0008 72,800 10,677 62,123
OFFULHEHZHRIARIZ 1) ZE 30,560,0002 30,560 60,633 30,073
O=2X 4AHZ30 2F 6,121,485,0002 6,121,485 6,191,485 AT70,000
OZMEE AT 23(0F) 23 576,000 576 826 A250
OOILZ 0! ZaHIE X2 (2Y) Z& 1,400,000 1,400 700 700
OgeRel FHasAdlA N
23 153,288,000 153,268 176,785 N23,497
OBMAHFAILZ 29 X 2F 1,008, 155,000 1,098,155 993, 155 100,000
O SN2 JHer=01(62) ZH 29,653,0002 29,653 24,910 4,743
02023 MRS (LX) 50,000 0 50,000
50 Al - SHIEXESS 2,254,308 2,139,206 115,108
51 Al - SHIZZ3S 2,254,308 2,139,205 115,108
521-01 Al - THI2X3S 2,254,308 2,139,206 115,108
OsyII=SH | 2 342,0002 342 350 A8
ougilssz ZE 10,0002 10 % ~28
OF1-DSEV B 33 91,000 91 131 A40
O3ILM=HZ | 2 972,0002 972 402 570
O3ILM=HAIZHI 2 486,0002 486 575 189
OFHULMEHZHRHI015H) 2 5,460,002 5,460 801 4,659
OFFULHEHTHRIARIZ 1) 2 2,292,002 2,2% 4,547 2,255
O=2X 4AHZ0 23X 765,186,000 765,186 773,935 8,749
OMBISTIAIE SAR e+ ZH 78,109,0002 78,109 80,324 2,215
OXMEE MAHHE 2(0) Z& 173,000 173 248 AT
OOILZ 0! ZaIE X2 (2Y) Z& 180,000 180 0 0
OgeRel FHa=sAdlA N
3 13,139,0002 13,139 15,153 2,014
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